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QUESTION 1

Wireless users with the same user VLAN and the same SSID can access the Internet, but they can\\'t access each

other. What could be the cause of this phenomenon?

A. The user\\'s gateway device is configured with an ACL to prevent mutual access between users.

B. The ACL is configured on the AC to prevent mutual access between users.

C. Port isolation configured on the switch connected to the AP prevents mutual access between users.
D. User isolation is configured on the wireless service-set to prevent mutual access between users.

Correct Answer: D

QUESTION 2

When did the initial application of the wireless network begin?
A. During a major war

B. During the Second World War

C. Late 20th century

D. After 2000

Correct Answer: B

QUESTION 3

For dBm, dB, dBi, the following description is correct (Select 3 Answers).

A. dBm: characterizes the absolute value of power

B. dBi and dBd: characterize the relative value of the gain

C. dB: Characterizing the relative value of power

D. If the antenna is 12dBi and the antenna is 14dBi, it can be said that A is smaller than 2D.

Correct Answer: ABC

QUESTION 4
In the 802.1X protocol, you must have the ability to authenticate and authorize users (Select 3 Answers).

A. eSight server
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B. client
C. certifier
D. authentication server

Correct Answer: BCD

QUESTION 5

When wireless network engineers are planning for WLAN networks, the purpose of RF simul-ation is (ABC) (Select 3
Answers).

A. Simulate signal coverage, find blind areas

B. Obtain field strength distribution at different locations

C. Obtain the current signal-to-noise ratio at different locations
D. Obtain the available bandwidth at different locations

Correct Answer. ABC
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